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ADVANCED MATHEMATICS
Geometry
Time Allowed: 45 minutes
Examiner: Ms Opferkuch
Instructions: All questions may be attempted. -

All necessary working should be shown in every question.
Marks may be deducted for careless or badly arranged work.
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Find the value of x. 6. Prove VW [[XY .
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7. Evaluate x, giving reasons.
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8. Prove that
ABCD is a thombus. A7&T is equilateral and AJKL isosceles.
Find the value of x. - '
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Find the value of x, giving reasons. 9. ABCD is a parallelogram with
DE =DC.

Prove that CE bisects <BCD.
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Find the value of x. 10. Find the sum of the interior angles of
a regular polygon whose exterior

angles are 18°.
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ABCD is a quadrilateral with AD
exténded to E.

".IF ZABC =<CDE.

-Prove thaf LB8BRD + £8cod =1Po
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Bisect an interval AB. Refe~to Rgure /. |§

(2) What type of quadrilateral is
AYBX?

(b) What property justifies the
accuracy of this construction
method?

What geometric property is required
for regular polygons to tesselate?

In the square ABCD as shown <ALM

is 70.
Find <LBC and give reasons.
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ABCD is a square with the diagonals
meeting at N.
On the line AB, a point K is taken so
that AK=AN.
Find with reasons the size of <AKN
and <KNB.

ABCD is a square and <CDX is an
equilateral triangle as shown.
Find <AXB and <AXC in degrees.
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The figure ABCDE, as shown, is
what is sometimes called a .......
pentagon.

By forming triangles show that the
sum of the interior angles is still the
same as calculated for the
conventional pentagon.
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Suppose <ABE = x.
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Find <BAC and <BKF in
terms of x.

Find <BKF in terms of x.
What is <BAC + < BKC?
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